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Q361. It is difficult to fix a nail on a freely suspended wooden frame. Which law supports this
statement?

I T U fAel eI oTehsl o thel TR Shiel oaTTlT HRehel ¢ | ol T hiolel 38 HUT I FHYT
AT &2
A. Law of inertia /ST8ca T [ a&

B. Newton’s second law /egCel I GEII IGEP=]
C. Newton’s third law /o-?Jt\EFI CORCIE ARG
D

. Pascal’s law /9T¥ahel &l e
Sol-

It is difficult to fix a nail on a freely suspended wooden frame.
This is because of Newton's third law of motion.
e When we apply a force on the frame, It gets deflected due to the reaction of applied force.

o TaT &Y AT RSl & e IX hiel STl ARl &
o TE YL F A & AR T & FROTE|
o ST gH hH U Ueh Sl o3TTd 8, Al TG oI13] el ol FicAfehar o sor faaifid gt arar g1

Q362. Cryogenics is a branch of Physics that deal with ...............
ot ferard HHfcehT T Tah @I ST ... o Ferd g

Very high temperatures /Sgd 31feieh ATt

Very low temperatures /ag?r SH dT9HATT

Growth of extremely small crystals /37cdd BI¢ fhEcell T gafer
Growth of extremely large crystals /37caid B1 fheeell dr gefar

O 0o w >

Sol-

Cryogenics is the branch of physics that deals with the production and effects of very low
temperatures. The Large Hadron Collider (LHC) is the largest cryogenic system in the
world and one of the coldest places on Earth.

. m@ﬁwaﬁﬁﬁ@r%%m%a’rqu S dTIHT & 3cUTesT 3 gHTar & gafora
&1 oISt 83TeT IS (LHC) gl 1 Tad 9137 shraitotfoteh e § 3R g2l )}
I 33 TATH H A TH ¢

Q363. Primary building blocks of a DNA molecule are:
20T 3707 & STATHF FHoT Es &
A. nitrogenous bases, phosphates, and ribose macromolecules /ATSeIslad S, BiEhe 31K
TSt HeprHTTFI e
B. nitrogenous bases, phosphates, and deoxyribose macromolecules /T8¢ IS &4,
wiere, 3R AsiFiNTEas SRR




GENERAL SCIENCE IMP QUESTION / SAMPLE PAPER - 37

C. phosphorous bases, nitrogen, and ribose macromolecules. /BIEPRY I, ATSEIoTT 3R
Sslel Heshi AT e d |
D. None of these /T8 & HIS &1

e Primary building blocks of DNA are Nitrogenous base, phosphorous and deoxyribose.

e To form a strand of DNA, nucleotides are linked into chains, with the phosphate and
sugar groups alternating.

e The four types of nitrogen bases found in nucleotides are: adenine (A), thymine (T),
guanine (G) and cytosine (C).

o ATAT & NAAS AT W3 ATSISTH 9, BIEHRH 3R S3TFIRSET £ |

o STAT AT Teh FHeRT Tt & FoIT, 7 fFeriierssd sl SRl # SHsT ST &, foas
BIEthe AR =il Hog T-aR A g &

o IFAAICISIH H UTT Tel dTel AR TehIX oh ATSCIolel 84 &: UsfeleT (T), ATSAT (&),

37T (Sf) 3R A A (&) |

Thymine Deoxythymidine monophosphate

o}
CHj
O—IU’—OH
o

HN |
O)\NH

OH

Cytosine Deoxycytidine monophosphate

NH,

Sugar-Phosphate backbone
wosoutside)

Held together. by hydrogen bonds
(H-bonds)

Watson and Crick model of DNA
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Q364. Which vitamin deficiency causes cracking of lips at the corners of a human patient?

Trg AeT@a & ey & U3t & o & Il H eIX I8 AT 87

OO w >

Sol-

Vitamin A /faeifasr T
Vitamin B-2 /[aeTfAe &i1-2
Vitamin C /facifA= &t
Vitamin D /faeTfdeT 3t

Chapped lips are a common symptom of deficiencies, especially in folate (vitamin B9),
riboflavin (vitamin B2), and vitamins B6 and B12 ( 11,12, 13, 14).

He 816, [T 9 & wiele (faerfAa &Y 9), TsaIvraifaet (faerfAa &Y 2), 3R erf@eT &t
6 3T e 12 (11, 12, 13, 14) FI HH T Teh TTATT F&T0T &

Q365. The photosynthetic symbiont of a lichen is

FATSchel T ThT TS Hgolldel &

A.
B.
C.
D.

Sol-

legumes /SITAY

moss /TS

Green algae /3T SYaTer

cyano bacteria /ATI=AT SFEIRAT

Lichens are formed by the symbiotic association between algae and fungi, and have a
unique morphology distinct from both the parents.

Lichens are very sensitive to sulphur dioxide pollution in the air.

If air is very badly polluted with sulphur dioxide there may be no lichens present in that
area.

The growth rate of lichen is very low even less than a millimeter per year and this
property is used to determine the age of the exposed rock.

The fungi benefit from the carbohydrates produced by the algae or cyanobacteria via
photosynthesis.

ATgeheT QAdTel 3 hash & drer Hgoial SIsTd & &eTdl 8, 3 ATCT-TdT STt & 3771 veh
e fadr 3R gich €1

ATSheT §aT H o SISIHTFATSS W%Qﬁﬁ@ﬁﬁﬂﬁ%ﬁﬁ%ﬁ%l

Ife; g e SISHTFASS T g {1 G Ygfd & ol 38 & H FIg ogehed Al
EHREESIE

ATSeheT T &8 & et a¥ Teh TACHAICT & Y e gIcil & 3N 38 9[0T &1 39T
3R Teele $1 A eiRe et & forw fohar sirar g
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o YR HIAYUT & ATEYH & AdTel AT RIANFERAT GaRT 3cUTfed FHIEfgrage § swash
I TS BIaT &1

Q366. Dictyosome are -

fSfFcara# & -
A. Respiratory particles /2d8dT shUT
B. Liver cells /Tehe & sl fRrepre
C. Golgi bodies /3Mesft e

D. Related to protein synthesis /9TETeT TAYUT & Ta &I

Sol-
e Dictyosomes are net-like flat, membrane-bound cavity structures called cisternae which
comprise the Golgi apparatus.
e Proteins are stored in the dictyosomes for further transport, modified, sorted, and packed
into vesicles.

. RRFCIET e e T, Bied & el T[T T § oS Ryt avet ST &
foras aiieelt 7 enfAer grar 21
o SO H 3T ¥ IR AR, HNRT, Foae 3R gRFTHT F e a3 Far R
H I8 [har Srar g
Golgi Apparatus

Incoming

transport vesicles . Cis face
-

e
-
Lumen

N H i
L ‘}/ Cisternae

A — d
A y Secretory
‘f )i vesicle
Trans face J 3

Newly
forming
vesicle



GENERAL SCIENCE IMP QUESTION / SAMPLE PAPER - 37

Q367. Which could be used to monitor the rate of photosynthesis in a plant?

GieT # JerTer HRTUT I &3 FI fATRIe & forw fohaehr 392er fhar 37 dehdr 872
A. Carbon dioxide production /ehTelel STS3TFATSS 3cUTes
B. Water production /STel 3c4lced
C. Oxygen production /3TFETSTeT 3cUTGs
D

. Hydrogen production /gT83TeTel 3cdTga
Sol-

Measuring photosynthesis via the production of oxygen
Oxygen can be measured by counting bubbles evolved from pondweed, or by using the
Audus apparatus to measure the amount of gas evolved over a period of time.

o 3G & 3cUTCsT & ATETH T YehTA HRYUT &hl HATYAT
o disdis & fehelel arel ool &l ety mw@rmﬁﬁﬁﬁg‘é’ﬂﬂﬁm
I AT & FAT ST IYSHIUT T 3TATIT hleh JHTFEToTeT ahl ATIT ST Tl &

Q368. A concave mirror of focal length 20 cm forms an image having twice the size of object.
For the virtual position of object, the position of object will be at

20 QT Brnd G T Ueh el GUUT T o TR & GIJol TR T TS STl &1 TE
& et Rty & forw avg & Reufa gl

(@) 25cm
(b) 40 cm
(c) 10cm
(d) At infinity
Sol-
m= - 5=+2 = v=-2u
As Eelaid
u v f
1.1 _ 1
u -2u 20
l l
u =20

— u=-10cm
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369. If 1 kg The alloy contains 32% copper, 70% zinc and the remaining nickel, then what will
be the amount of copper in the alloy?

e 1 feharm TAsETe & 32% ofiaTT, 70% SECT 3T AW folehor 81, A @i & arel sy &= 71
grefr?
(a) 280 grams
(b) 400 grams
(c) 240 grams
(d) 320 grams
e Copper (Cu) — 32%

e Zinc (Zn) — 40%

¢ Remaining nickel — 28%
A

Hence the quantity of copper = 1000 x% =320g
[ ]

Q370. Which one of the following statements regarding Bleaching powder and D.D.T. is
correct?

ST UEsT IR A (. F geu A F=i@ad asla arFaa g2 aar g?
A. Both are inorganic compounds /Gl=iT 3ehTefoieh Iifaeh &
B. Both are organic compounds /&lt shefaieh Tk &
C. Both contain chlorine /&1 & FA{IT 81T &
D. Both contain calcium /&1aAT 3 hieRI gIar &

Q371. Which one of the following is the best example of desiccant?

frafaf@d & @ FleT T Ter[sheh HT T 30T 3G §?
Silica gel /faferepr oot

Polystyrene / Grel&ers faiet

Sodium chloride /Af3Td FRSS

Sodium carbonate /AT FIEfaic

O 0w >

Sol-

Desiccants are drying agents that extract water from various kinds of materials.
Desiccants work by a process called adsorption.

e Adsorption is described as a surface phenomenon where particles are attached to the top
layer of material.
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e Desiccant is used where the rate of evaporation is quite low due to the high percentage of
humidity in the atmosphere.

o TAYHF GE dTel Toic § S fafPest yaR 1 arAfat & aredt Sererd £

o SToIY[Seheh TAIANNUT ATHh FishdT GaRT I A ¢ |

o TIGAT Teh Hclg BT o §I H 0T § 5161 hoT HHA T MY RA A FS gl 8 |

o STCI[Seheh ol ST T SITCTT & ST aATcraRoT # TS & 3T TRl & HROT
aTSHIERTOT T &X T A gl gl

Q372. Which one of the following was the first mineral acid discovered?

ArAff@a & O i I1 ugar @At 315 Qe 31T A7?
Sulphuric acid /He¥gXe TTAS

Hydrochloric acid /gTsgiaFel e Tfas

Nitric acid /A8 vfas

Phosphoric acid /BIEHIReE Tias

o0 w»

373. What is the expected molecular mass of sulphur dioxide (SO2)?

o SBIHTFATSS (S02) T UTEIT 1T geTHTT T 87
(@) 6.4u
(b) 6.5u
(c)64u
(d) 75 u

Sulphur dioxide — SO2
Atomic mass of S = 32
Atomic mass of O = 16
S02=32+16%x2=32+32=64u

Q374. Constantan, Metals are made by mixing. . . . . 2UehloEeea, YT ohY TR ST STl
gl

(@) Cu, Ni

(b) Cu, Ni, Mn

(c) Ni, Ti, Fe, Cr

(d) Ni, Cr, Mn, Fe
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Constantan Cu+ Ni (55% + 45%)
Brass Cu+ Zn (70% + 30%)
Bronze Cu+ Sn (88% + 12%)
Rolled gold Cu+ Al (90% + 10%)
Steel Fe+C

Nichrome - Ni+Fe+Cr

Q375. What is the purpose of adding baking soda to dough?
3T F SfehaT ANET fAeTsT & 71 366 &7

A. To generate moisture /eTHT 3ceel el o T

B. To give a good flavour /37<&T TG, &1 & foIT
C. To give good colour /37aT &1 &Y & forw
D

. To generate carbon dioxide /&TeeT SIBHTFATSS 3ol el & ToIT
Sol-

Baking soda has sodium bicarbonate as the chief constituent. It decomposes on heating
giving carbon dioxide. This causes dough, cakes, biscuits etc. to expand and become
light.

o ST AIST H AT Tk & §9 A ASTH STShIaieic GIcl o | I el T TG Hlelal
%ﬁmﬁgaﬁ?%ﬂﬁﬁe’rm%l SEY HTCT, sheh, TaEPHe 3TTE oo goh &1
Sl

Q376. Which one among the following metals is used for making boats because it does not
corrode by sea water?

frrafafad 7 & g arq &7 39T 1 aoiet & forw foram STTaT § i a8 695 & T &
TS GBIl 87

A. Tungsten /CITECA

B. Nickel /fe¥hrer

C. Antimony /T&H=AT

D. Titanium /ET8ciaae
Sol-

Titanium (Ti) metal is used for making boats because it does not corrode by the sea water.

CTSTAIHA (Ti) YT T AT AT ToATet o ToIT FomaT STl § e I8 T & 9Tt &
et AT eIl &

Q377. A close bottle containing water at room temperature was taken to the Moon and then the
lid is opened. The water will
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HHAY & dTIAHTT 9T ITeiT A 313 Teh o SYd ol ! TSHT U of STRAT 917 3 T TareheT @iell
IRAT| GT=AT B3

A.
B. boil /3€TelT

C.

D. not change at all fereshor TiRaciet wTgT

Sol-

freeze [STH SITTT

decompose into oxygen and hydrogen /3iTeeTeTet 3R g8 & Aufed

The water will freeze because on Moon the temperature is below the freezing point i.e.,
very low.

qrell STH ST A1 TGAT 9T ATgH T %ﬂiﬂsﬁgﬁaﬁm?ﬁag?rwm%l

Q378. Which one among the following is responsible for the expansion of water in the ocean?

fAEATATET 7 @ Al T A ST & TR o foIvw Sorer 82

oo w >

Sol-

Carbon dioxide /TeeT SIS TFHTSS

Nitrogen dioxide /mTSeTsTeT STS3iTFATSS

Carbon monoxide /&TeeT AAITFATSS

Sulphur dioxide /FeHI STS3TFATSS

Carbon dioxide is responsible for the expansion of water in the ocean, CO2 causes global
warming.

hTSeT STS3FATSS THe H UTell & faEAR & ToIv f9FACR &, CO2 Teitere aTiatar &1
HROT ST &

Q379. Food cans are coated with tin but not with zinc because

Gl & f3ea W et ol T gl § afeset [l & A8, Fifd

A
B.
C.
D.

Sol-

zin is costlier than tin /f&eT Y JelelT & foieh HEIM &

zinc has a higher melting point than tin /fe=T &Y Jef=lT # TSieh T ITef=Tieh 3Teh BT &
zinc is more reactive than tin /feT &Y JelelT 7 STEdT 31T yfafharia g

tin is more reactive than zinc /fe=T fSieh &1 Jeratr & 31fereh wfafohareler &

Food cans are coated with tin instead of zinc because zinc is more reactive than tin. Tin is
only reactive to powerful acids such as tri-sodium phosphate, while zinc is reactive
towards acids.

G & 3 R Sieh & 57918 fet o1 o7 fohar ST & Fifeh fSieh et hr Jefer &
31T ufafsrareier grar &1 feor Fhaer afedarre vfas S grg-aifsas wivthe & fow
gfafsrareiier §, Sefe foie vfas & ufa gfafkarie &1
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380. In electronics MOS stands for -/Selareliaad & MOS &7 31 § -

(a) Metal Oxide Semiconductor
(b) Most often Store

(c) Method organized Stack

(d) None of these

e MOS stands for Metal Oxide Semiconductor. It is a semi conductive technique used in
transistors manufactured in most parts of a computer's microchips. The semi-conductors
are made of silicon and germanium.

o TH3NTY I Addd Hed 3iFarss JHhsae §| T§ U 378 TaTghIT deheilsh ¢
TSTEehT 3UATeT ey & ATSHITACH & 3iT8enier fEd! # AT giforee # faram Srar
g1 31T fafeis 3R AP TF a3 ga &l




